50 —T : — 100

8of|--:-

40

60|+ ~1000

30

-2000
20

n

10 —-3000

-4000

L " |
1 5 1 1

1w_ 1.U0 _SOM_
1: 1 1:_
o0.o5t b L LS ; H I B 0.95 0.05L : HiH ; dGIEE::

10?

[Eny

10? 10° 1

—=— DQM_TT__mkFit-DQM_original
—— DQM_TT__mkFit-DQM_modified2
0]

2000

1500

-1000 1000

500

-2000

-3000 -500

—-1000

-4000
-1500

L

o
TTTT [T [TT T T[T T[T [ TTTT[TITT[rTTT

—-2000

-5000

s

iy
TTTT T

10?

=
=
o

10? 10° 1

100 T " — T 200 500

80 400

150ft--+-

60 300

100f--

40 200

100

0 0 1]
1
s =50 Lo
1 1 1
C 0.95 0.95

[uy




	Contents
	Page 1


